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QUESTION 1

You want to provide Layer 2 connectivity to a backup data center or to a disaster recovery site. What would you use to
accomplish this task? 

A. Data Center Interconnect 

B. network redundancy 

C. SDN 

D. SAN protocols 

Correct Answer: A 

 

QUESTION 2

Click the Exhibit button. Referring to the exhibit, you want the vSRX device to inspect inter-VM traffic. Which two actions
must you take to accomplish this task? (Choose two.) 

A. You must put the connections between the VMs and the vSRX device in separate VLANs. 

B. You must put the connections between the VMs and the vSRX device in separate vSwitches. 
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C. You must put the connection between the VMs and the vSRX device in the same VLAN. 

D. You must put the connection between the VMs and the vSRX device in the same vSwitch. 

Correct Answer: AB 

 

QUESTION 3

Which two statements are correct about current data center designs? (Choose two.) 

A. Network functions are being virtualized. 

B. Public IP addresses are easy to obtain but not manage. 

C. There is a proliferation of distributed applications. 

D. There is a proliferation of monolithic applications. 

Correct Answer: AC 

 

QUESTION 4

Which two statements are correct about a VCF deployment? (Choose two.) 

A. You are allowed up to four spine devices. 

B. The fabric is managed as a single logical device. 

C. An EX4300 switch must be deployed as a spine device. 

D. You must deploy a QFX5100 as a leaf device. 

Correct Answer: AB 

 

QUESTION 5

Click the Exhibit button. You are creating a resilient IP fabric for a data center based on a Clos architecture. Referring to
the exhibit, which statement is true? 

JN0-1301 VCE Dumps | JN0-1301 Practice Test | JN0-1301 Exam Questions                                3 / 4

https://www.pass4itsure.com/jn0-1301.html
https://www.pass4itsure.com/jn0-1301.html
https://www.pass4itsure.com/jn0-1301.html


https://www.pass4itsure.com/jn0-1301.html
2024 Latest pass4itsure JN0-1301 PDF and VCE dumps Download

A. A physical link must be added between spine 2 and spine 3 and between spine 1 and spine 4. 

B. Additional physical links between spine 1 and spine 2 and between spine 3 and spine 4 must be added for resiliency. 

C. No physical links need to be added or removed. 

D. The physical links between spine 1 and spine 2 and between spine 3 and spine 4 must be removed. 

Correct Answer: D 
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